
 Money  -  Part  - 2  

 Addition  

Exercise:  Arrange and Add:  

Example 1:   ₹  7460.98   +  ₹  841.50  

 

 Rs    P  

    1  1    1      

    7  4  6  0  9  8  

  +    8  4  1  5  0  

    8  3  0  2  8  8  

 

a. ₹   621.96     +    ₹  231.01  

b. ₹  234.84      +    ₹  43.65  

 

Word Problem:  

Viraj spent ₹ 175.68 on cold-drink,  ₹ 100.50 on ice-

cream,  ₹  149.99 burger on daily items.  How much 

did he spend in all ?  

 

Solution:   



 Amount spent on cold-drink   =   ₹ 175.68  

      Amount spent on ice-cream   =   ₹ 100.50  

      Amount spent on burger     =     ₹  149.99  

      Total amount spent     =   ₹  _____  

(  Solve the problem and write the answer  )   

 

i. Rohit purchased apples for ₹  325.45,  banana 

for ₹ 58.25 and oranges for ₹ 98.65. find the 

total money he paid the fruit-seller? 

 

( Start on a new page ) 

Subtraction:  
 

Exercise :      Arrange and Subtract:  

Example:      ₹ 672   -  ₹  213.35  

  

 Rs  P  

    6  11  9    

  6  7  12  10  10  

-  2  1  3  3  5  

  4  5  8  6  5  



  

a. ₹ 875.00    -    ₹  354.65  

b. ₹  9050.67   -   5200.07  

  

Word Problem:  

Rohan had ₹ 900.00 with him.  He bought a shirt for   

₹  698.75 . how much money is left with him ?  

Solution:  

       Total amount with Rohan   =   ₹   900.00  

       Cost of shirt     =    ₹   698.75  

       Amount left with Rohan   =   ₹  ____  

(  Solve the problem and write the answer  )  

 

i. John gave a ₹ 2000 to the shopkeeper and 

purchased the food items for ₹ 1450.60. Find 

the amount that the shopkeeper returns  

back to John? 

 


